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Number of Questions to be attempted : 42
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870275
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087010191 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill
2. Critical thinking
3. Steady association
4. Mastery of facts
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In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and C only

4. D and E only
www.FirstRanker.com
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Options :

71087040685. 1
71087040686. 2
71087040687. 3
71087040688. 4

Question Number : 2 Question Id : 71087010192 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafaiad frer faftat & smde (@een) d 64 faftat & Jaeme aF1 9l & 2
A. TORTRA B

B. UG

C. 3fR&m

D. T =i

£ URGISH (Uiside) Brd

FafeRad faeedl 5 9 U5l 3wk &1 98- o1 :

1. ®ad C 3R D
2. Had A 3R B
3. ®AAB AR C
4. HadAD ARE
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®ad A D3IRE
4. $ddB, D 3ARE
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Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

faenardt aifirm & orgH S-ar Fafafed # € &9 € oRe © o< gmfes e & &9 5 96
EIGIGER

A. SHTETROT

2. Sifg

C. GrHIfTh BT

D. UIRaIR® Heg (WUld)

. HfFTHGd! B fafiy grgdr

FofaRad fgeedl H 9 9el I &1 9g &Y :

1. HadAA, C3IRD
2. BAAA, B AR C
3. @A B, C3RD
A4.HaAC, D ARE

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

Match List | with List 11

www.FirstRanker.com

List |

List 1l

Methods of estimating the reliability of a
test

Description

A Test-retest method

l. Administering the test in one session with
two equivalent halves of the test for correlation

B. Alternate form method

Il. Two or more raters score the test
independently

C. Split-half metheod

IIl. Administering the same test to the same
group at two different sessions

D. Inter-rater method

IV. Administering the two forms of the test to
the same group at two different sessions

Choose the correct answer from the options given below:

TA-LB-ILC-I,D-1IV
2A-1ILB-1,C-IV,D-1l
SA-IVB-NIILC-1,D -1
4A-ILEB-IV,C-I,D-1l
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fafy GGl

D. HR-FuRD|Iv. &l 49 T3l # tP g1 G & o usian & &l ureui
fafr B TLMRd Sl
i< fgu 7Tu fadeul § T Ul Sk &1 90 @9 ;

TA-LE-IL,C-1,D-1V
ZA-ILBE-1L,C-1V,D-1
SA-IV,B-NILC-IL,D-1
4 A-1LB-IV,C-1,D-1l
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Which of the following research is intervention-based, cyclic in nature and improvement

focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research

Frofafad § 9 ©H-91 Y g8y H1uid, 991 Ueid IR QUR Sigd g ?

1. TP ST Ty
2. Ta&/0T 20y

3. UONTTES Ty
4. foraras =y
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Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error

Tl Ty ufegreaHT | Ifad wafeid URia &1 SUaRT &Xd gU Myddl & HRI6ug TREeH
®1 % ®H & 189 U o1 91d 3 | 01 ©3A I {60 TR &1 FiC T &1 GHIGAT Bl © 7

1. Tehl T

2. ST e

3. G UeT 3R dier 7ie
4.9 T TeHT AR A der e
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A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®ad A D3IRE
A HAAA, BIRE

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List |

List 1l

Sampling techniques used in research

Description

A. Simple random sampling

.. The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling

Il. Each unit is given an equal independent chance
of being picked up

C. Dimensional sampling

lIl. The k-interval is obtained by N/n and the units
are drawn using the same, where N is population
size and n is desired sample size.

D. Snowball sampling

IV. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

TLA-LBE-IV,C-1,D-1
2A-ILB-NLC-1,D-1IV
S3A-IVB-IILC-III,D-|
4A-ILEB-L,C-IV,D-1l
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TLA-LBE-IV,C-1,D-1
2A-ILB-NLC-1,D-1IV
S3A-IVB-IILC-III,D-|
4A-ILEB-L,C-IV,D-1l
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Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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2. (A) 3R (R) TFT HE1 & 3R (R), (A) DT Y& SHRHAT 761 €|
3. (A) 981 & U] (R) ¥el Tol &
4. (A) W8I 981 § U3 (R) GBI B

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagonia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.
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The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
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What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue

www.FirstRanker.com
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Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
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The concept ‘fraction of selection’ in classroom communication is determined by the

expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed

e UM H ~ 999 & HIT" BT HTYRU &1 R0 59 O Hafed ufama $f suer g e
GIFIT%:

1. HTITD TAH

2. HTIRgdH JHIEM

3. HGEH TOHET Ga1a
4. HT9=0H AT
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Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand Fonly
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®adC, D 3ARF
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Match List | with List 11
List | List Il
Type of communication Characteristics

A. Intra-personal

l. Between persons

B. Inter-personal

Il. within a small organisation

C. Group

lll. Large number of unknown audience

D. Mass

V. Within oneself

Choose the correct answer from the options given below:

TA-LB-ILC-I,D-1IV
2A-ILB-NLC-1V,D-|
SA-ILBE-IV,C-1,D-1I
4A-IV,B-LC-1II,D-1
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C. 998 1. ST Sl &1 do! T
D. SH-GHe™ v, |
g fad el § 4 U8l 3 &1 99 &y -

TA-LB-ILC-I,D-1IV
2A-ILB-NLC-1V,D-|
SA-ILBE-IV,C-1,D-1I
4A-IV,B-LC-1II,D-1
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Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement lI: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
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1. ®YF | 3R 1 G T B

2. @Y | 3R 11 BT Tel el &

3. ®YH-1 9el 5, fbg oyH-11 TE1 el
4. HUF-| FE1 81 &, To=g HYH-11 921 5|

Given three numbers, first is twice the second and is half of the third. If the average of three

numbers is 56, then the difference of first and third number is

1.12
2. 24
3.36
4.48
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71087040764. 4

Question Number : 21 Question Id : 71087010212 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
el = Ty & T ) ugell e gudl § @ giHl § aul dieRl SeA ol oefl g1 afe il
TEH131] BT ST 56 & I Ugall SR TG U1 @ SicR §hT -

1.12
2. 24
3. 36
4.48

Identify the next term in the series
2,10, 26, 50,

1.78
2. 94
3.82
4.104
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71087040768. 4

Question Number : 22 Question Id : 71087010213 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 __ 1 @l § 3T 3 BT Ao &3 -

1.78
2. 94
3.82
4.104

A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
4. 90 km/hour
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Question Number : 23 Question Id : 71087010214 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& H S XET U SAIGHT H1fey dl ¢ i a8 U e o 31 SoliH & Wl &l 9 s g1 afe
@Y 50 Hiex &f Fafta g W gl dl ¢ &1 wis ®n gl 2

1. 50 b 41, 7 Wicder
2. 60 T 4. / ufcden
3. 80 T 4. / ufaden
4, 90 T 41, ; UfcsieT

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125
2. 5250
3. 5500
4. 5150
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Question Number : 24 Question Id : 71087010215 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

¥. 50,000/- BI IHH dF H 1 T & 0T 10% UTday & 4T U o491 S 7141 98 o7 Y diftid
YR R GR@Id gidl & dl 1 91d & 3id H ST & IeH ol gl 2

1. 5125
2. 5250
3. 5500
4. 5150

In the following letter series, what is the next term?
abcf, bedg, cdeh, defi, ___

1. efij
2. efgi
3. efgj
4. def]
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Question Number : 25 Question Id : 71087010216 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

9 3HeRT ®1 @ o STe ug &l er?
abcf, bedg, cdeh, defi, ___

1. efij
2. efgi
3. efgj
4. def]
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The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ECEBAD
3.EB C DA
4D A B CE
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T T § <01 9160 &1 PHEGd & -
A e

B. JGIEUI

C.?d

D. 3

E. TfcisT

fafeRad faeed 5 9 981 3T &1 98 B ;

1.AECDB
2ECEBAD
3.EB C DA
4D A B CE
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What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

BE. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2 A B D C
3.C D B A
4D, C A B
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0 GRHRE | €I 91 &1 pHaGdl ey -
A STHIET

B. ARGl

C. arad

D. Gy

=i U 7Y fadedl & ¥ U5l IR &1 989 B :

1.D,C B A
2 A B D C
3.C D B A
4D, C A B

"To infer rain in the past by perceiving muddy water in the pond’, is

1. Parvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison
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71087040790. 2
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Question Number : 28 Question Id : 71087010219 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

draTe | dldegad Ul & 4d | d1 814 &1 Feay AdaA g :

1. 9dadq $HH
2. QA HTAH
3.1 3R 2 gHf
4. o

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by

Hetu is known as

1. Savyabhichara
2. Viruddha
3. Satpratipaksha
4. Asiddha
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71087040794. 2
71087040795. 3
71087040796. 4

Question Number : 29 Question Id : 71087010220 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

24 BRI U1 & W & BRI sy [AdeH &1 [0 R &1 8@y &gl 9idl & ?

1. JAHAR
2. faes
3. gaufduéa
4. g
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Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
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i 9R widgfaat € i €, 399 U ol U4 e § b d I A8l 8l Ydbd giifcs d Tad gl Ydvd
& 3 o ufaghl & ®e &l 09 &1 -

A T =fed SHFGR &

g. ®I3 ff fdd SHMGR e gidl

C. $B Hfdd THHER®

D. $% Afdd sHHGR el ald

i< f&u T fasedl 7 @ Wel I &1 98- BT -

1. Had A 3R B
2. ®HaAB AR C
3. ®ad C 3R D
4. HAAA IR D
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Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 288 98 3 23.4 83
2016 342 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 49.4 98

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 32 Question Id : 71087010224 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4. -1%

Total expenditure on all these items in 2015 was approximately what per cent of the total

expenditure in 20197

1. 84.63 %
2. 58 %
3.91 %
4.73 %
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Question Number : 34 Question Id : 71087010226 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44
3. 544.44
4.591.41

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2 2722
33127
41917
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Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT e Y R fGU T gul & TR F =t (@ Ut §) $7 uiaad

FHURWRUN F I :
i & MY (@rat H)
aﬁ 0 .
wHaOfEi @1 | ufvaga a9 BU IR g LT
dad

2015 288 98 3.00 234 83
2016 342 112 252 32.5 108
2017 324 101 3.84 416 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 49.4 98
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TyT o ufqay 3i1ad fard=1 =1 g&HI Usdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02

Sfcarad oaftl & TR = 9199 @ ol $a A UeH B & 98 39 a1y H Ued $d da- df A
BT T fhaT Ufa=d & 7

1. -3 %
2. -4 %
3.7 %
4. -1%
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2015 ¥ 39 9t Hal UR {1 141 §dd o0 2019 & $al o4l &I Gy fdba-1 Hiard o ?

1. 84.63%
2. 58%
3.91%
4. 73%

q¥ 2017 T B A AR H A AT & -

1. 624.6

2. 52444
3. 544.44
4.591.41
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ay 2016 3R 2018 ¥ @ & TU H {6 T o0l & dig &I Urd T4 favaHT & 2

1. 17:11
2. 2722
3.31:27
4.19:17

What is the full form of the abbreviation 1oT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
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Correct Marks : 2 Wrong Marks : 0

loT HIEI &1 guf T4 (Hel BiH) ®TE ?
1. ST Y 3B ZReH

2. 33T HHIH g

3. 3T 3D U

4. TEEHT 3B CHDRBIA

Which type of memory holds the computer startup routine?

1. RAM
2. WAN
3. ROM
4, Cache
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_ OO @1 Us UBR & ol el ¥e HY S bl GYIadl & -

1. dRTTH

2. &Y U T
3. 3R AT TH

4 &Y

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct
www.FirstRanker.com
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Options :

71087040829. 1
71087040830. 2
71087040831. 3
71087040832. 4

Question Number : 38 Question Id : 71087010230 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2 5l Py feu U § : Ugal ey (A) IR W@ (R) B :
HfBYT (A) : HRT & HiEET TOTHdle & =1 duil 9 9¢ @l g

dd (R) : HIGId &1 HAd ®H ol ol o

Suddd HYHl & eiid H Fgifed fadedl H U waiite 3uged 3w g -

A) 3R (R) G Tl & 3R (R), (A) ! Tl RS 5 ﬁ
A) 3R (R) GHT TEI1 € 3R (R), (A) BT T&! IR 181 &
)
)

A) T8l & U] (R) 7Ted 5

1.
2
3.
4. (A) TTEd & IR (R) Ue! o
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The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png
3. .doc

4. .jpg

HIY 2007 H AH NI (THTY) 93 SiagHe &1 Bi3d [AWR & -

1. .docx

2..png
3. .doc

4. jpg
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What is the binary number for decimal number 97

1. 1100
2. 1001
3. 0111
4.1011

GIHCd 9T 9 B lesR G- A1

1. 1100
2. 1001
3. 0111
4.1011
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The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
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31 UXd & &R P DRUIE -

A. AR FRHCS SR gidlad

B. UHd UTaR witel ¥ Icdo

C. 3f&H 9% @1 Ger

D. A3 IoH YHIGY JeRd & dfUD Farl
i fau T fadedl & U UE! IR & 98- Y :

1. Had A, B 3HR D
2. ®ad A AR D

3. ®BAAA, B AR C
A4 HAAA, C3RD

Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4 Primary education
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71087040845. 1
71087040846. 2
71087040847. 3
71087040848. 4

Question Number : 42 Question Id : 71087010234 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frofafad § 9 T &F 1 g1 =18 & e Yediiss [asr deal & ded Iary far o o1 2

1. RRI e
2. qTigeuig gaHaar

3. OH4d HEHR
4. Ui f2ra
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Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C DB A
2B CAD
3.D,B CA
4. C, B DA
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aF H SIe4 SE3HaaEs Sov- & Ufqsafdd Iaae H g o ard G2 & 3aiie HH &
HE! §a B Ug=H B -

A HRA

B. di=

C. TG AP HRSD

D. SO

g fg®weal © O T8I ST &1 997 &1 -

1.C DB A
2B CAD
3.D,B CA
4. C, B DA
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Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are

prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large

hydropower plant

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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il &l dy fau U B : ugel i@y (A) IR GO dd (R) § -

HYDHYA (A) : THDICH FaiaRul Zial O 9 grgsuia? Wil W oY glgeiular wiel ol adigd
FIEIEGE

dd (R) : 93 BISSIUGR Wil &I qa-1 § &Y SIsiulaR Wiel &I |1 § & Yofl aidi 8 |
Iuad HYHl & 3Maid | HHifed [decdl § I Faiids Iuged 3w 9 :

1. (A) TR (R) THT TET § 3R (R), (A) BT HE1 AR

2. (A) 1R (R) THT WET § 3R (R), (A) BT Tel SRS TR B

3. (A) W6l & U (R) el el |

4. (A) W8I 981 § U3 (R) GBI B

Day time noise standard prescribed for residential areas in India is

1.75dB
2.65dB
3.55dB
4.50dB
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Question Number : 45 Question Id : 71087010237 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd ¥ fardig &3 & fau fa J My IR &1 3 & -

1. 75 dB
2.65dB
3.55dB
4.50dB

Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2. 1982
3. 1984
4. 1986

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 46 Question Id : 71087010238 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRA H 3= HETH & U $g & BU H qaifie o1 31! gR1 [y Iy H URIs =id & ©0 §
iftd fapan w2

1. 1980
2. 1982
3. 1984
4. 1986

Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010
2. 2011
3. 2012
4, 2013
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Question Number : 47 Question Id : 71087010239 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

P IR &M S (3R L UE Q) S U $wig Wraiferd aie ¢ SR S8 Sexg U6 T
TR &0 Y131 DI YRS 9 U Yo BT 8, BT YHRH e a1 /@1 o ?

1. 2010
2. 2011
3. 2012
4, 2013

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4, 19-24 years
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71087040871. 3
71087040872. 4

Question Number : 48 Question Id : 71087010240 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IR & & ghd AHieH U (SiisHR) S=R R1al H $d 39 FRUs AHie Ued @hd a4
T U SIS o+ & & Ufd=d & &0 H Sificdad 5idT 81 39 ded ® Rafafad | € @-
1 31 T U SIS o g & Gl 6 ?

1.16- 2134
2.17-22T
3.18-23T4
4.19 - 2434
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Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2.B,Cand D only
3.C, D and E only
4. A DandE only
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Fufeiad o U oF 1 &Y= JeuwRd fRI&71 & FdiaH Rl ®dl ¢ ?

A. T8 Afd® I”d § U UIedHH § |

5. U 4l aafaa & Aol sfa:farsti 3 Rars SR &8 &1 a1d adl o

C. faremdf o=y o= Hia1-Udl &1 sfaeis- Hd & 3R 36! § Ul oIdgR URad g |
D. Taremedf Tad 31U SieR 11 BT a9l 3R Tel Bal & |

. U Taeiiial @1 U S # 301 H [Rigd @ & O Hidiiied o1 ¢

e fau e famedl & O Gaifte Iugad 3R &l 99 &1 :

1. HAAA, B 3R C
2. @A B, C3RD
3. ®adC, D 3ARE
A HadA D3IRE
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Match List | with List 11
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List |

List 11

ICT
Resource Development

Initiatives of Ministry of Human

Their benefits for students and researchers

A SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

D. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-NLE-IV,C-1,D-1
2A-IV,B-NIIILC-1,D -1
3A-ILB-1L,C-IV,D-1lI
4A-1L,B-ILC-NI,D-IV
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Tdi-| § 914 fa. darey &1 ssdicl gl @l 3ead ol Jai-1l H fenfiar ofR wienfiat & fom
I Ay fer e g :

-1 -1

A Gl . SfcRuTld Yunel! & SadgiRe HgHd U &A1
- %ﬁm&ﬁwﬁﬁgﬁ & AR TS Ul
C3 -ULm. 11 I TUTarl Gaslt V&S BRIHH] Dl 24 x 7
BIEEI GRCall

D.3- TA1 V. SIS BIY & o Hise Ud Sl

I feu U fashedl © O gel 3R &1 98- & -

TA-ILB-IV,C-1,D-Il
ZA-IV,B-NILC-IL,D-1
SA-ILEBE-1L,C-1V,D-1I
4 A-L,B-ILC-1,D-1IV
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Section Marks : 200

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 710870280
Question Shuffling Allowed : Yes
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Which one of the following branches of philosophy of science deals with the question of
existence?

1. Post-positivism
2. Structuralism

3. Ontology

4, Scientific realism
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1. 3T UHEAG
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Which one of the following terms denotes that there are qualities of experience that cannot be

explained in terms of combinations of traditional kinds of sensations?

1. Zeitgeist

2. Tropism

3. Gestalt Qualitaten
4. Conarium
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1. folefie

2. 3aaA

3. TETee UrareA
4 @y

A researcher is studying group process of software startup developers by staying with them
and like them for six months. Which of the following is used by her?

1. Grounded theory

2. Ethonography

3. Narrative analysis

4. Phenomenological research
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2. Jelifa qui
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Testing the scientific hypothesis is impossible due to the need of auxiliary assumptions. What

is this associated with?

1. Occam’s razor

2. Logical empiricism

3. Duhem—-Quine thesis
4. Incommensurability
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1. HiGHH HoR

2. difdhas SfHfaddl

3. goH B
4, gl

Making decisions by the use of mental short cuts that focus on one aspect of a problem, while

ignoring others refers to which one of the following?

1. Framing

2. Belief perseverance
3. Heuristics

4. Mental set
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1. §Y UHIEG (IBTH)

2. fayrg srea9 / 6l
3. WHHId® Y Jorrelt
4. qHFG® fa=arg

A group of sixty newly diagnosed diabetic patients were tested for anxiety using a
standardized inventory. They were retested for anxiety again after months using the same
inventory. The mean difference in anxiety was evaluated by a suitable t-test. The degrees of
freedom associated with the t-test would be

1.120
2. 113
3. 59
4,58
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T3 HeHE o TIal &l FAMtdl G&0r & Ygrdl U H1GH fhdl 71| U HegH 916 31 H3ia| Bl
T ufaroT & Yl 4 U: URIE0T [dn 41| S ORI & TeHH SR @ t - URE &I
el d iR fogr 71 39 « - Gdain I i gidd JHI0n G o1 B

1. 120
2. 118
3.59
4.58

In depth perception, what kind of images are used?

1. Uni-dimensional image

2. Two-dimensional images
3. Three-dimensional images
4. Four-dimensicnal images
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2. fefayig fda
3. - fonfo i

4. Tqfayiy fde

Total cholesterol is determined by adding which of the following values?

1. HDL + LDL

2. HDL + LDL + 30% OF VLDL

3. HDL + LDL + 10% of VLDL

4. HDL + LDL + 20% of Triglycerides
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1. HDL+LDL
2. HDL+LDL+VLDL @I 30%
3. HDL+LDL+VLDL @I 10%

4. HDL+LDL+ TRACERISS BT 20%

Which appreach focussed on the nature of a task and its influence on a person’s ability in
solving problems?

1. Associationist approach

2. Information processing approach
3. Gestalt approach

4. Behaviourist approach
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1. GEgdid® JUNTH

2. o1 TETH0 JURTH
3. TeTee U

4, dgRdIel SUNFH

Teplov while discussing the strong/weak nervous systems believed that the point of
‘transmarginal unhibition’ is the point beyong which :

1. The magnitude of response decreases as stimulus intensity decreases
2. The magnitude of response increases as stimulus intensity decreases
3. The magnitude of response increases irrespective of stimulus intensity decrease/increase
4. The magnitude of response decreases irrespective of stimulus intensity decrease/increase
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3. JEIUS &I Jigdl U 91 9¢ 3351 & A6 dedl &l e
4, EIUD B UHET & de- 91 ged U fa-1 uHIfad gU a1 &f JiE1 gedi ¢

In multiple approach-avoidance conflict, one has to choose between which of the following?

1. Two goals possessing both negative and positive aspects

2. More than two goals; each having both positive and negative aspects

3. More than two goals; one having negative aspects and others having positive valences

4. More than two goals; at least one having positive aspects while others may have negative

aspects
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3.5 9Tl € Sfid : 370 9 U & oRIE® Ut 8 3R gOe 0l & YPRIE® aio® &l
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Which one of the following models proposes that there are three major functional units of the
brain: focussing on sustaining attention; receiving and storing information and planning and

self-monitoring?

1. PASS model

2. Kar and Parrila’s model

3. Atkinson and Shiffrin model
4. Hunt's model
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1. 19 G18d

2. ®R 3R URa F1Ar8d

3. Tefdhad 3R fRrftha &1 arsa
4 g @I asa

For an intelligence test in an educational setting, which of the following difficulty value shows

maximum discrimination?

1.0.8
2.0.6
3.05
4.0.3
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e uiesy ¥ gfe wiam & e FofaRad § 9 $H-11 B3R a1 sfiaad fave exiar e 2

1.0.8
2.0.6
3.05
4.0.3

What do you call the attention that is drawn automatically to a stimulus without the intention
of the participant?

1. Divided attention

2. Shadowing

3. Endogenous attention
4. Exogenous attention
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4. gfgdid 3@y

Jensen put forward the 'Regression’ argument to account for which of the following?

1. To understand inter-generation changes in intellegence
2. To understand intra-generation changes in intelligence
3. To understand group differences in intelligence

4. To understand the role of genetics in intelligence
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What is the retention without conscious recollection of skills and dispositions called?

1. lconic memory

2. Implicit memory
3. Explicit memory
4. Semantic memory
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2. U3d Hid
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Who among the following is credited with proposing the investment theory of creativity?

1. Gatzels and Jackson
2. Kaufman

3. Wallach and Kogan
4. Sternberg
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Client: (Silent and shifting nervously in her chair. She is facing the counselor, but her eyes scan

anxiously about)

Counselor: It must be difficult for you to decide what you are going to do here with me

This response is an example of:

1. Dealing with content speculated to be motivating for non-verbal behaviour by the
counselor

2. Encourages to deal with non verbal behaviour

3. Encourages to understand the feelings

4. Reflection of feelings
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2. Mfec® HadeR ¥ Fued & fou Igde®

3. HIGTI3Hl B FHZH & U IR dw®

4. HTGHI3HT DI Hiafaitad S

In Bronfenbrenner's model, which one of the following systems is independent of cultural
bias?

1. Micro system
2. Meso system
3. Exo system

4. Macro system
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1. TP YTl
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A harsh father always restricts the curiosity motive of his son and the son develops a general
hostility towards his superiors. Which of the following is correct about this?

1. The father represses the curiosity
2. Such change is permanent

3. It is the most modifiable response
4. It is conditioned hostility
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Which of the following principle is violated when a psychologist intentionally misrepresents his

research results?

1. Beneficence

2. Fidelity and responsibility
3. Integrity

4. Confidentiality
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2. 81 3R FWata
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A, TG

According to Lazarus, what comes between the stimulus and emotional response to that

stimulus to mediate?

1. Physiological reactions

2. Labeling

3. Social and situational cues
4. Cognitive appraisal
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Vaibhasika and Sautrantika are associated with which of the following?

1. Theravada

2. Cetasikas

3. Madhyamikavada
4, Sarvastivadin
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1. dETG
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4. gdfgqara!

In the famous experiment by Schacter and Singer involving epinephrine, what was found to

govern the emotions?

1. Perceptual cues only

2. Social appraisal only

3. Both cognitive appraisal and physiological arousal
4. Both cognitive and social appraisal
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Which of the following is the correct response pattern for the semantic differential test to

measure a trait ‘active'?

1.1 am active: SAAN D SD

2. | am active: True/False

3. Choose one: Active-Trusting
4, Active...Neutral...Passive

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Question Number : 75 Question Id : 71087010267 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fafafad o 9 o -4 gsbia oo & A & o weard fava fadda wiem o wel sferan
UREUE ?

1. HEHAE:SA A N D SD
2. H gD : el / Tad

3. T4 DI : §h 1Y - [ayg-ig
4. 9P ... Y ... fEpy

Which one of the following is the correct description of Old Fashioned Racism?

1. A contemporary form of antagonism towards a racial group based on prejudice and values
rather than on self-interest

2. Beliefs in which racial superiority, segregation and formal discrimination

3. Attitude towards a racial group, combing egalitarian social values and negative emotion
resulting in avoidance of that group

4. Well learned sets of association that can be automatically activated, uncontrollable and

unintentional
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Which of the following is an attitude measure that places a single adjective in the centre of an

even number of numerical values?

1. Edward scale

2. Thurstone scale

3. Stapel scale

4. Semantic differntial scale
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Which one of the following is considered as correct for Poverty Gap?

1. Gap between Rich and Poor

2. Gap between developed and developing nations

3. Difference between poverty line and actual income level of all those living below that line
4. Gap in the infrastructure facilities between developed nations
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Who among the following conducted one of the most famous and controversial experiments

in the area of obedience?

1. Sherif
2. Asch

3. Milgram
4, Cialdini
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Immediately after an action potential, the cell does not produce another action potential due

to

1. Absolute refractory period
2. Relative refractory period
3. Resting state

4. Active state
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Which one of the following attitude scaling methods is especially unsuitable for scaling a large

number of attitude statements?

1. Paired comparison

2. Equal appearing intervals
3. Summated ratings

4. Successive intervals
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The Door in the Face Technique is based on which tactics of compliance?

1. Tactics based on reciprocity

2. Tactics based on commitment or consistency
3. Tactics based on friendship or liking

4. Tactics based on scarcity
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Which neurotransmitter is helpful in synaptic plasticity?

1. Acetylcholine
2. Glutamate

3. GABA

4. Dopamine
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Which technigue of studying the brain involves injecting the patient with radioactive glucose?

1. EEG
2. MRI
3. PET
4.CT
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What does 'Absolute Poverty' mean?

1. Poverty in terms of absolute number of people

2. Poverty in terms of prevailing price level

3. Poverty in terms of absolute level of umemployment
4. Basic minimum calorie requirement

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

quf TR @1 A S

1. quidar TRiE Rl &1 el & &4 o T
2. 99 g TR & &g 9 el

3. SRISATRT & QUi &R & &9 H 16t

4. §IT1E TAAH dail B TGl

What do you call the neurological procedure involving the implantation of a medical device
under the skin in the chest that sends electrical impulses to electrodes surgically placed in the

specific location in the brain?

1. Deep Brain Stimulation (DBS)

2. Repetitive Transmagnetic Stimulation (rTMS)
3. Electroconvulsive Therapy (ECT)

4. Vagus Nerve Stimulation (VNS)
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4. Y AT e

Antiduretic hormone (ADH) is released by which of the following?

1. Adrenal cortex

2. Adrenal medulla
3. Anterior pituitary
4. Posterior pituitary
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Which of the following is the correct explanation of "An intolerance for weakness, a punitive
attitude and submissive respect for their in-group authoerities as reflected in their agreement”?

1. Social Dominance Orientation
2. Ethnocentrism

3. Conformity

4. Inequality
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Who believed that meaning in life can be uncovered by creative, experiential and attitudinal

values?

1. Rollo May

2. Victor Frankl

3. Friedrick Nietzsche
4. Jean Paul Sartre
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Who among the following has laid emphasis on examining the relationship of culturally

specific practices with development?

1. Piaget
2. Fodor
3. Vygotsky
4. Kohlberg
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Which of the following are considered in favour of scientific realism?
A. Corroboration

B. Empiricism

C. Miracle argument

D. Selective optimism

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.B and C only
4. A, Cand D only
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Question Number : 91 Question Id : 71087010283 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, 9P
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C. TH@R db
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1. Had A AR B
2. ®Had B AR D
3. ®aAB AR C
4. HAdA, C3RD
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In the independent groups' design, selective subject loss occurs because of which of the

following?

A. Subjects are lost differently across conditions

B. Subject characteristics are responsible for subject loss
C. Subjects are lost uniformly across conditions

D. Subject characteristics are independent of subject loss
Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3.B and D only
4. Cand D only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Wda Tg Hfided ¥ Fufefad 4 O fd sRull § 9afaq ufaurf e eldi 8 2
A. Tt Rt & yfqurht firg - i BRot § fea 9 8

. ierumt & sifiraeror ufaurdt & fwa 94 & forg Swer g 31

c. g1 fufaal & wiawrl T &9 4 Mo |d 5|

D. UfeHIT & eI uiayrfi 819 9 Wda B

Fufeiad famedl ¥ ¥ 3ugad 3w 9+ :

1. Had A 3R B
2. HAAA 3R C
3. ®ad B AR D
4. %ad C AR D
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Which one of the following personality test/s employ/s a ‘Lie’ scale?
A. Rotter's Locus of control scale

B. Eysenck Personality Profiler

C. Minnesota Multiphasic Personality Inventory-2

D. Edwards Personal Preference Schedule

Choose the correct answer from the options given below:

1. C only

2. B and C only

3. A, Band D only
4. B, Cand D only
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1. %ad C

2. ®HaAB AR C
3. ®ad A, B3R D
4. Had B, C AR D
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Which of the following are involved in decreased food intake and weight loss?
A Insulin

B. Leptin

C. Cholecystokinin

D. Orexin

Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3. A, Band D only
4. B, Cand D only
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1. Had A 3R B

2. ®AAA, B3R C
3. ®AA A, B AR D
4. HadA B, C AR D
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Which of the following character strengths are included in the VIA classification of strengths?
A. Creativity

B. Forgiveness

C. Resilience

D. Prudence

Choose the correct answer from the options given below:

1. A, B and C only
2.D,Cand A only
3. A, Band D only
4. A and C only
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1. HAAA, B 3R C
2. ®adA D, C 3R A
3. ®AA A, B AR D
4. HAAA 3R C
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Which of the following internal roadblocks to effective listening is exemplified by the
statement "We have never done it that way before"?

A. Resistance to change

B. Halo Effect

C. Stereotyping

D. Hearing only, not feeling

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD
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1. Had A

2. Had A 3R B
3. ®BAAA, B AR C
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Adult neurons rely heavily on which of the following?

A. Glucose

B. Protein

C. Potassium

D. Sodium

Choose the correct answer from the options given below:

1. A only

2. A and B only
3.Cand D only

4. A, Cand D only
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1. Had A

2. Had A 3R B
3. ®ad C 3R D
A HAAA, C3RD
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Which of the following were considered to be appropriate for psychological study by Wundt?
A. Analysis of cultural products

B. Higher mental processes

C. The totality of psychological phenomena

D. Self-observation

E. Physiclogical type of experimentation

Choose the correct answer from the options given below:

1. B, C and D only
2.B,C, D and E only
3. A, DandE only
4. A, C DandE only
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1. ®dd B, C AR D
2. ®ad B, C, D3ARE
3. ®ad A D3IRE
4. HadAA, C, DIARE
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The cognitive theory contends dependency behaviours to be arising, from and being
maintained by cognitive distortions and maladaptive thought processes.

Which of the following are associated with cognitive distortions?
A, Availability

B. Hindsight bias

C. Flexible attribution

D. lllusion of control

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Band Conly
3.B,Cand D only

4. Cand D only
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1. BadA, B, C3IR D
2. ®ad A, B3R C
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Which of the following is true about Hypovolemia?

A. It causes thirst

B. It increases the blood pressure

C. Angiotensin is released during this condition

D. The volume of blood increases

E. Blood pressure reduces

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3. A, DandE only
4. B, Cand D only
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Which of the following are the parts of mental logic theories of reasoning?
A. A set of interference schemas

B. Accumulation of concepts

C. A reasoning program

D. A set of pragmatic principles

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
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1. HAAA, B 3R C
2. ®aA A, B3R D
3. ®aAd A, C 3R D
4. Had B, C AR D
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Which is true about coefficient alpha?

A. It is a lower bound of a test of parallel items

B. It is an upper bound of a test of parallel items

C. It is an average of all combination of split-half reliabilities
D. It is independent of inter-item correlations

Choose the correct answer from the options given below:

1. C only

2. A and B only
3. A and Conly
4. Cand D only
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1. %ad C

2. Had A 3R B
3. HAAA 3R C
4. %ad C AR D
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Which of the following statements are true about Unity Thema?
A. It is a compound of interrelated needs linked to press

B. It is a compound of conflicting needs linked to press

C. It operates largely as an unconscious force

D. It operates largely as a conscious force

Choose the correct answer from the options given below:

1. A, B and C only
2. A and C only
3. A and D only
4. B and D only
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What comprises haptic perception?

A. Shape

B. Size

C. Volume

D. Identity

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B,Cand D only
4. A B and D only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

WY g H g H g eH  AfRd ® -
A. 3MTpId

3. HIDR

C. 3RId/ HIEAT

D. HiE&Wdl

fgfafiad fasedl § ¥ ugead IR gHU -

1. HAAA, B 3R C
2. ®ad A, C 3R D
3. ®aA B, C3RD
A HAAA B3IRD

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following are the components of Metacognition?
A. Metacognition knowledge

B. Metacognition experience

C. Metacognition control

D. Metacognition regulation

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. A, Band Conly
4. A B and D only
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Which of the following are associated with the Path in Sufism?
A. Establishing self and assertion

B. Repentance

C. Renunciation

D. Poverty

E. Annihilation

Choose the correct answer from the options given below:

1.B, C and E only
2. A, B and D only
3. A, B, Cand D only
4.B,C, DandE only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

M H Y DM - 9 gwiae & Uy Y geftd g ?
A. 3TH U T¢ &Y o] |0 &l

B. JYTdTg

C.m

D. Fefar

£, fgam

Fofaad faeedl 9 9 981 &1 98- 31 -

1. Had B, C AR E
2. ®AA A, B 3AR D
3. ®AA A, B, C 3R D
4. HddB, C, D ARE

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following is useful for testing univariate normality of distribution?
A.Q-Qplot

B. Shapiro-Wilk test

C. Jarque- Bera test

D. Scatter plot

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A, Band D only
4. A Band Conly
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1. Had A 3R B
2. ®aA B AR D
3. ®AA A, B AR D
4. HAAA, B3R C
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Johnson-Laird (1995) has some contengencies in the scientific study of logic, which comprise:
A. Relational inferences

B. Propositional inferences

C. Focus gambling

D. Syllogisms

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
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Which of the following are comprised in executive functions?
A. Planning

B. Attention

C. Set shifting

D. Declarative memory

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
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1. HAAA, B 3R C
2. ®aA A, B 3AR D
3. ®aAd A, C 3R D
4. Had B, C AR D

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Mr A is very good at discriminating between progressive and regressive ways of behaviour. His

choices are clearly perceived by him and adequately symbolised.

According to Rogers, these are the characteristics of which of the following?
A. Individual tendency towards ‘growth’

B. Tendency to 'self actualise’

C. His constructive creativity

D. His self-affirmation

Choose the correct answer from the options given below:

1. A and C only

2. A, Cand D only
3. A and B only

4. B only
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1. HadA A 3R C
2. ®ad A, C 3R D
3. Had A AR B
4. Had B
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The psychosocial stage of Intimacy v/s Isolation is preceded and succeeded by which of the
following?

A. Generativity v/s Stagnation

B. Identity v/s Identity confusion

C. Industry v/s Diffusion

Choose the correct answer from the options given below:

1. A only

2. A and C only
3. A and B only
4. B and C only
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1. Had A

2. HAAA 3R C
3. ®Had B AR A
4. HAAB 3R C
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Which of the following characterise the hardy person?

A. He is high on sense of commitment

B. He is more likely to act to ‘cover-up’

C. He doesn't avoid problems, yet he is often angry

D. He is always under the control of his life and events
Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A and B only
4. A B and D only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

T¢ oiga | Fgfiied § 9 & - O faRivae g1t § 2

A IO Uiddsdl T Hd §

B. 98 B [T &3 & (U gk Tedl &

C. de quE3l O YArdr Jel & fhe ofi 98 fewR =91 81 91dl &
D. T8 THN (U Silg SR ge-re{l R =0 3@ §
FafeRad faeedl 5 9 U5l 3wk &1 98- o1 :

1. HadA A 3R C
2. ®ad A AR D
3. ®Had A 3R B
A HAAA B3R D

www.FirstRanker.com
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Which of the following dimensions are essential to be mastered in multicultural counseling, as
per McFadden's transcultural perspective?

A. Cultural-Historical

B. Historical hostility management

C. Scientific-ldeclogical

D. Minority identity management

E. Social

Choose the correct answer from the options given below:

1. A, E and B only
2. B, D and A only
3. B, D and E only
4. A CandE only

www.FirstRanker.com
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A Firstranker's choice _ .
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Ohthed & RGP d® URUED & HIUR WHRGd & dgURadd THR & $e A IR
UHhs W aedl | A g g e di g 2

A. Gipla® Ufagias
B. UfdeTi® & ugeH
c. e fGERyET

D. JdHd UgdH UdeH
E. QHHITh
afoiad fameal § O 98! &1 99 &9

1. Bad A, E AR B
2. ®ad B, D 3R A
3. ®ad B, D 3R E
4. HAAA, C3IRE
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Several types of heuristics have been identified by researchers. Which of the these are included
init?

A. Lexicographic strategy

B. Satisficing strategy

C. Mental set

D. Elimination by aspects

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only

www.FirstRanker.com
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Ty a5 3-® UBR o] WHdD Aie Yorel JgaH & o fo=d Fgfafea © T s wnfia @

A. FHIITGT YrERST

B. TR gmie!

C. AR E® foam

D. Tegail gRT FRE (U= 915 Srdacs)
Fufeiad famedl ¥ ¥ Faife 3ugad 3w g :

1. HAAA, B 3R C
2. ®aA A, B 3AR D
3. ®aAd A, C 3R D
4. Had B, C AR D

www.FirstRanker.com
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A teacher engages students in hands-on, inquiry-based and relevant learning activities in his
class. What does this illustrate?

A. Application of the law of exercise

B. Application of the law of effect

C. Creating intrinsic motivation

D. Creating extrinsic motivation

Choose the correct answer from the options given below:

1. B only
2. B and C only
3. A and Conly
4. C only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
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Us fR18id 30 DHefloe | Sl S bl gvey 3, Jodrs HuURd R WHRd st
fepareanal o Tl 81 o U8 Udd ®dl & -

A. 3VOTE & {50 &1 SguanT

B.UYTd & 109 &1 AUan
C.aatifga U gferd BT

D.&Tel TR gford S

FafeRad faeedl 5 9 U5l 3wk &1 98- o1 :

1. dd B
2. HaAB AR C
3. HAAA 3R C
4.%adC
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Match List | with List I
List | List Il
A. Cancer that originates in the blood-forming cells )
l.Carcinoma
such as stem cells
B. Cancer of the epithelial tissue, cells that line the outer
. . I.5arcoma
and inner surface of the body such as skin, stomach etc
. Cancer that arises from the cells in connective tissue ,
lll.Leukaemia
such as bone, muscles
D. Cancer of the sympathetic system which is one of the
IV.Lymphoma
rare types of cancer

Choose the correct answer from the options given below:

1. A-ll, B-1lI, C-I, D-IV
2. A-l, B-Il, C-1V, D-III
3. A-IV, B-II, C-111, D-1
4. A-1, B-lI, C-lI, D-1V

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
geil-1 &1 Gdl-11 9 e &4
-1 -1
. U1 R ol & DIR@1] ol 3ad aaHarc S
A, BTEEED g B 2

. 1. D Ul il @, Ue oIl dedl 3R &1 Idel
> RERNT BT IR
C. @I |11l U1 HaR 1 g3, U ol de'y Uit § S giaT @
. v, feipifed Red &1 R ol HeR &I U ggd favd
D. feimmE TR 2
fgfafad faswedl § ¥ Ugl &1 g-1d o :

TA-ILE-N,C-1,D-IV
2ZA-L,B-1,C-IV,D-1
SA-IV,BE-ILC-,D -1
4 A-LB-1ILC-N,D-1IV

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

Match List | with List 11

www.FirstRanker.com

www.FirstRanker.com

List |

List 1l

Sources of Personal
Efficacy by Bandura

Therapeutic processes

A. Performance
accomplishment

. Live models, symbolic modelling

B. Vicarious experiences

I. Attribution, Relaxation biofeedback,
symbolic desensitisation

C. Verbal persuasion

lIl. Participant modelling, Performance
exposure

D. Emotional arousal

IV. Suggestion, exhortation, self-
instruction

Choose the correct answer from the options given below:

1. A-lll, B-11, C-IV, D-I
2. A-l, B-1ll, C-lI, D-IV
3. A-ll, B-1ll, C-I, D-IV
4. A-lll, B-, C-1V, D-lI

www.FirstRanker.com
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gt -1 & Gl -1 T gaferd sifo :
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T -1 T -1l

ERRENIGRIGRE :

saren s S Tgug FHIib @Iy Hicharg

A D AUEA W HHAT 1. d15d AlSd, Udidbidd AlsielT
1. TOTRIGY], A ol - Blodd,

B. Ufd=uTfd 3ya o AT

C. TMfsid 1. GeHift HisfeR, s e

D. YIGTH® 3UR V. GH1d, ValeH HHHSR

FfaRad [deedl § 9 981 3ok &1 909 &1 :

TA-N,B-I,C-IV,D-I
2A-LBE-NL,LC-1,D-IV
SA-LB-NLC-1,D-IV
4A-LB-1,C-IV,D-1l
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Match List | with List I
List | List Il
‘Types of Reliability ‘Source of Error Variance'
A, Test-retest . Content heterogeneity

B. Alternate Form (delayed) [Il. Inter-scorer differences

C. Coefficient alpha . Time sampling

D. Kohen's Kappa IV. Content sampling and time sampling

Choose the correct answer from the options given below:

1. A-IV, B-lI, C-I, D-III
2. A-IV, B-1, C-II, D-IlI
3. A-lll, B-IV, C-1, D-II
4. A-lll, B-IV, C-1l, D-1

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

gt -1 & Gl -1 T gaferd sifo :

www.FirstRanker.com

Tl -1 T -1

IEEREIERIRGAR Ffe SR & Fid

A. TRI0T - T:TRI&0T . =dde] [AuHiETdl
B.ddbicdd Gdia (facifad)  |L.3rduidis fiadl

CIUN® 3T 1. BT uigeel

D.®Ig~ Wl V. ST Hiaegl iR el e
Fafaiad [9dedl § 9 9l &1 904 &1 :

1T.A-W,B-I,C-1,D-IN
2A-W,B-1,C-1,D-1IN
SA-ILB-IV,C-1,D-1
4A-LB-IV,C-II,D -1

www.FirstRanker.com
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A Firstranker's choice
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Match List | with List 11

www.FirstRanker.com

List | List 11

A, Pratibha l. Samkhya philosophy
B. Prajma Il. Nyaya Vaisesika

C. Vak lIl. Tantrik tradition

D. Bhavas V. Patanjali Yoga system

Choose the correct answer from the options given below:

1. A-l, B-1l, C-IV, D-1lI
2. A-ll, B-IV, C-1, D-IlI
3. A-ll, B-IV, C-111, D-1
4. A-1, B-IV, C-l1, D-III

www.FirstRanker.com
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A Firstranker's choice
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www.FirstRanker.com

i -l

gy I =

A ufayr . i g=iA

B. T 1. - 9RifuE
C.dd 11, T TR

D. YTd VAGEINEIUE* IS
fafaiad deeal § U gel &1 90 &1 :

1T.A-LB-I1,C-IV,D-1l
ZA-IILB-IV,C-1,D-1
SA-ILB-IV,C-1II,D -1
4 A-,B-IV,C-1,D-1
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Match List | with List 11

List | List Il
, . Response activated when drugs bind with a
A, Efficacy
receptor
|l. Repeated exposure with less activation of
B. Tolerance
receptors
C. Downregulation lll. Compensatory reduction in receptor
availability
D. Withdrawal IV. Unpleasant physiological responses

Choose the correct answer from the options given below:

1. A-ll, B-1, C-Ill, D-IV
2. A-l, B-1l, C-1lI, D-1V
3. A-lIL B-IV, C-11, D-1
4. A-IV, B-I, C-11, D-III

www.FirstRanker.com
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l Firstranker's choice
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geit-1 &1 Gai-n 4 foreq &
-1 Tl- 11
. P Od WD §l ldll & o SAuied] Jed Bl
A. DI -
B.ORWA |1 UTE®! & & ihddl & 91y TRER fda=HE
cﬁ.&mﬁ ] 1. T8 B SUcedl H S0R® Bl
D.fAadH v, S ARG sfeband
Fufeiad fameal ¥ ¥ 98! &1 989 &1 :

TA-ILE-1L,C-1,D-1V
2ZA-LB-1L,C-NI,D-IV
SA-ILB-IV,C-II,D-1
4 A-IV,B-1,C-1I,D-1

www.FirstRanker.com
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Match List | with List 11
List | List Il
. Rayan & Deci

A. Happiness results from experiences of personal
expressiveness

B. Happiness is self-realization, meaning the Il. Diener
expression and fulfilment of inner potentials

C. Happiness reflects an individual's own judgement |lll. Aristotle
about the quality of his or her life

D. Happiness result from the fulfilment of three basic
, V. Waterman
psychological needs: autonomy, competence and

relatedness

Choose the correct answer from the options given below:

1. A-l, B-1l, C-Ill, D-IV
2. A-lll, B-1V, C-1, D-lI
3. A-IV, B-II, C-11, D-I
4. A-ll, B-I, C-1V, D-III

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Tt -1 & gl -1l T gaferd oifor -
- -l

A. 3T TR Td HIaUgUd] & 3Hal § F-gd gla & %
B. HHE MMl © 2ruid, Hiad Guraredl @t sfiyaafad 3R
EECAR] L SIS
C. 3G Aiagd & U Siig- &I oG] ®f Yidfsiad dXare |l IRE]
D. 3G o, §HATEI HHITHD Hagddie B gfd § V.
[:9d sidT 8 aRRd], SAGl Ud YaGdl GIEEE|
fgfafad faseal § O Ugl &1 99 &1 -

TA-LB-IL,C-1,D-IV
ZA-IILB-IV,C-1,D-1
SA-IV,B-NILC-IL,D-1
4 A-1ILBE-1LC-1IV,D-1l

www.FirstRanker.com
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A Firstranker's choice

Match List | with List 11

www.FirstRanker.com
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List |

List 11

A, Aggression

l. Aggression that is permissible
according to the norms of the
individual's social group

B. Anti-Social Aggression

Il. Aggressive acts that support
commonly accepted social norms

C. Prosocial Aggression

lll. Any action intended to hurt
another person

D. Sanctioned Aggression

V. Aggressive acts that violate
commonly accepted social norms

Choose the correct answer from the options given below:

1. A-IV, B-II, C-lII, D-I
2. A-lll, B-1V, C-1, D-lI
3. A-l, B-Il, C-1II, D-1V
4. A-ll, B-I, C-lI, D-1V

www.FirstRanker.com
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A Firstranker's choice

gt -1 &1 gt -1l U fire &8

www.FirstRanker.com

www.FirstRanker.com

Tl -| T -1

. I8 3MshHG Al fordd! odiad & THND THE &
A. STTEBTHSI AT 3 S S 2
B. TS - faRiell |11, 9 S o Sl 319 dR R Widh THifd
HIhHEHdl O &1 99U &id &
CHH - §Hdd (1. U Big Hl B Sl gER i &l g UgdH &
BTG G U fpar ar &
D.3Hfd U V. d 3{shTHS Hd §l HTH R UR Wia gHifed
T Hdl B Jecia Bd &
fgfafad faseal § O Ugl &1 99 &1 -
1.A-IV,B-1I,C-1I,D-l
2.A-1LB-IV,C-1,D-1i
3.A-1,B-1L,C-1I,D- IV
4. A-1,B-1,C-1I,D-1IV

www.FirstRanker.com
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Match List | with List 11
List | List Il
Description Type of Reinforcement

A. A reinforcement that reinforces a
response at unpredictable time
intervals

|. Fixed-ratio schedule

B. A reinforcement that reinforces a
response only after a specified time has
lapsed

Il. Variable-ratio schedule

C. A reinforcement that reinforces a
response after an unpredictable
number of responses

lll. Fixed-interval schedule

D. A reinforcement that reinforces a
response only after a specified number
of responses

I\, Variable-interval schedule

Choose the correct answer from the options given below:

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-1lI, C-IV, D-I
3. A-lll, B-IV, C-1, D-II
4. A-1v, B-lll, C-1l, D-1

www.FirstRanker.com
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A Firstranker's choice _ .
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Correct Marks : 2 Wrong Marks : 0

Gt -1 & Gl -1l § GHfTd difoe :

gl - gal-Il

A. 98 a9 Sl HYaiHg Gagiaera | fedr ihan |1 Faaua

CARCINGEAGIN GlINED]

B. 98 Q49 dll faffey gaaiderd 9urd g & ugrq, |11 akad-ia

Bl fondl argfpdl &1 Uaferd Bl g | & ERIGKINGAI
C. 98 AT ofl 3@ Hyaiad Hfwarei & gy (1. Hadiaud
[l Sl 1 Yaferd &Rdl gl diferesT

D. 38 G749 uil e faHiGy e d sfparsi & |Iv. TRad-d

are g fordt srfehar &1 wefeid dar 3 I diferaT
< feu U fd@eal o © 98 S ge

TA-LE-IL,C-1,D-1V
ZA-ILBE-UL,C-IV,D-1
SA-ILB-IV,C-I,D-1
4 A-IV,B-IILC-1,D -1

www.FirstRanker.com
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A Firstranker's choice
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Match List | with List 11

List |

List 1l

A. The theory that an individual's self-
concept is driven partly from
membership in a group

. Realistic group conflict
theory

B. The theory that prejudice arises from
a real conflict of interest between
groups

Il. Social Dominance theory

C. The theory that all societies are
organised in group hierarchies and
sustained through discrimination

lll. Social Identity theory

D. The most important social
perspective in social psychology

IV. Interdependence theory

Choose the correct answer from the options given below:

1. A-ll, B-1lI, C-I, D-IV
2. A-lll, B-1V, C-11, D-I
3. A-l, B-Il, C-1II, D-1V
4. A-1l, B-11I, C-1V, D-I

www.FirstRanker.com
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A Firstranker's choice
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Correct Marks : 2 Wrong Marks : 0
gt -1 &1 gl -1l § e oy
gl - I -1l
A. T8 sl & dfdd 3 31d- YhedH 3Hiflis U 4 m
UHE &I Yoe0dl 4 oJdd gl ¢ N

. 3 - . FHISD
B. T8 eid i Yaide gl & 4 3@l g6 & HRU e R

C. 7g [4gid e 9l 9 9E dviids W64 o U H (111, s

aYd i & 3R HEYId & gRI &8 3@ d & STl i
5 IV, TRERR

D. Tl eyl s ulbed g gH1fagH & P e

fgfeiad d@eal | O U813 &1 99 &

TA-ILE-N,C-1,D-1IV
ZA-ILB-IV,C-II,D-1
SA-LB-1IL,C-N,D-1V
4 A-1ILE-N,C-IV,D -1

www.FirstRanker.com
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A Firstranker's choice
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Match List | with List 11
List | List 1l
Description Concept

. Perceptual
A. A laboratory device for testing depth in p
. . adaptation
infants and young animals

|l. Horizontal
B. Refers to the differences in two eyes location | ,

disparity

of corner angles

C. Refers to two points which fall on non-
corresponding retinal positions one nearer and
the other farther

lIl. Vertical disparity

D. Perceptional adaptability to adjust to an

artificially displaced visual field

V. Visual cliff

Choose the correct answer from the options given below:

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-1lI, C-IV, D-I
3. A-lll, B-IV, C-1, D-II
4. A-1v, B-lll, C-1l, D-1

www.FirstRanker.com
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gt -1 & Gl -1 T gaferd sifo :

Tl -1 T -1
IGEELl g

A Faeld FRIR]3] dUT Heuaoedm dHad! H Te-idl &l Y& || Taaiy
= U TR g P
B. 391 GY g% & ®Hl U &l il & Aafufd o fax 1. guwdig
g O

C. 3UHT U< 3 &l fdgadl U & o erard] efpued ﬁ”" g
Ryl W uedl & o8 te Fdead! a9l GOl gddi o

Keata Eril
D. $HH Y U fawy1iid 14y &7 & qaRifcd SA @1 |IV. D18
&I SfIPpa-dl 11

fFrafdied faeedl & 9 gel IR gHT:

TA-LB-ILC-I,D-1IV
2A-ILB-NLC-1V,D-|
SA-ILBE-IV,C-1,D-1I
4AA-IV,B-UL,C-1,D-1
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Which is the correct sequence of speech and language development according to Vygotsky?
A. Naive

B. Primitive

C. Egocentric

D. Ingrowth

Choose the correct answer from the options given below:

1.A B CD
2B ACD
3.AB D C
4. B, A D, C

www.FirstRanker.com
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A Firstranker's choice _ .
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D! & AR AP R YT fabry &1 Tl HH & ?
A. TgSl

B. 3MMfgH

C. SEHiGD

D. 3ddls

fFafeRad faeedl H T 981 IR @1 909 B

1.A B CD
2B ACD
3.AB D C
4. B, A D, C

www.FirstRanker.com
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In cognitive therapy by Elis, arrange the sequence of following after recognising the activating

event

A. Discriminating the new emoticnal/behavioural consequences
B. Recognising the emotional/behavioural consequences of belief
C. Understanding the corresponding beliefs

D. Challenging and counteracting these beliefs

E. Recognising new feelings

Choose the correct answer from the options given below:

1.B=C—-A—E—=D
2C—B—-D—-A-E
3C~-B—-A—-E=D
4B—-C—-D—-A—E

www.FirstRanker.com
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THTE® S 5 9ihad 9e-1 @ UsdH &1 (9 fafed & $9eg difed

A. U HIGTHS ;/ AdgRIHS UROmAf 7 faHe &

2. fa19 & HIaTHD / FAERIAD URUIH! B UgdH B
C. 3& Y fayral & gHgHT

D. 34 f3yTal &1 THIG1 &A1 auT IHIEeH &Y ol

£. 9T HIG1 B UgdH Bl

Fofaiad fa@edl J 9 981 I & 999 &

.B—-C—-A-E-D
2C—-B—-D-A —-E
3C—-B—-A—-E-=D
4B-C-D—-A—-E
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What is the correct sequence of Decision Making Perspective of Pro-social behaviour to help a
person in distress?

A. Taking personal responsibility

B. Weighing the cost and benefits

C. Perceived a need

D. Deciding how to help

Choose the correct answer from the options given below:

1.A CBD
2B ACD
3.ABCD
4 C A B D

www.FirstRanker.com
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A Firstranker's choice _ .
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faufa o fordi oafad @ Yerdl & T are e s4agR & Huigo uRted &1 Fgfafad 5 9
D el SFIHH 87

A. SfGaiTd ITRGIad ol

B. TNTA 3R AT &I Jedid Bl

C. Y&l d ATaxgHdl
D. U 0ig &A1 o Herad &g &1 &g
fgfafiad fasedl § € U8l 3o giHe -

1.A CBD
2B ACD
3.ABCD
4 C A B D

www.FirstRanker.com
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Arrange the following in sequence as per the Extinction Transfer Theory of Aggression

A. Frustration

B. Residual Arousal
C. Arousing Events
D. Increased Arousal

E. Arousal attributed to Frustration

Choose the correct answer from the options given below:

1.A CEBDE
2D, B CAE
3.CD B AE
4 A CDEE

www.FirstRanker.com
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A Firstranker's choice _ .
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HTpTHEd] & [aag- 3faeu figid & uR FofaRad o 98l %9 § afud &8
A. D3I
B. @AY I

C. LIRS "Il

D. §G1 g3 35

E. 31 & BRI 34T 3g e
Fufeiad fameal ¥ ¥ 9gl 3w &l o4 &1 :

1.A CEBDE
2D, B CAE
3.CD B AE
4 A CDEE
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Arrange in sequence what Yerkes described commonly takes place in “insight learning”
A. Sharpening and frequent recurrent attention to the goal

B. Trial

C. Survey/Inspection

D. Attitude of concentrated attention

E. Critical point

Choose the correct answer from the options given below:

1.B-C—-A-D-—E
2B-D-C-A-E
3 C—-D-B-A-E
4B—-C—-A-E-D
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THY & HTER AP i & WHRId: o1 i1 &, 39 Tel A H oad &1 :
A. &0 & Ui G DI G BT 94 dR-9R HTYH Bl

B. faamur

C. Gdefur / g

D. UshFIfed gidR g &I ugd

E. FigwqYt feig

FafeRad faecal § 9 U5 3wk &1 98- o1 :

1.B-C—-A-D-—E
2B-D-C-A-E
3 C—-D-B-A-E
4B—-C—-A-E-D

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

www.FirstRanker.com

The enhancement of dominant responses is strongest when people think they are being
evaluated. What is the correct sequence of this theory?

A. Evaluation apprehension
B. Well learned

C. Presence of other

D. Increased arousal

E. Social facilitation

Choose the correct answer from the options given below:

1.B,A CDE
2C D ABE
3.A B CDE
4 A CDEE
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S| Tl ! THTd] & fob 3 sUaeR &1 Jedic bl off Tel &, dl W Sifebar I 9fe uaeae
idl & | 59 FUgid & 9ehi b1 Ul 3IhH HN 3 ?

A. Hegidd 4g

B. gRHIfeid

C. gl &1 Jufufa
D. af¥d IieH

E. HETSId P
Fufeiad famedl ¥ ¥ 98 3w gHu .

1.B,A CDE
2C D ABE
3.A B CDE
4 A CDEE
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What is the correct sequence of transformation in integral yoga?

A. Transformation of physical

B. Transformation of subconscient
C. Transformation of mind

D. Transformation of vital

E. Transformation of inconscient

www.FirstRanker.com

Choose the correct answer from the options given below:

1.C,D A BE
2A CDEBE
3ADCBEE
4. C A DEE
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B AN A FURU B g Y el pH adl g ?
A. TRIG FUidau

B. JU-3{~:H 0N B TR0

C. 79 &I ®qiaRul

D. Sild=d &Uid=ol

E. AHAATET (STDILT) BT EUTI
fafafad fasedl o ¥ U8l SO &1 904 39 :

1.C-D-A-B-E
2A-C-D-B-E
3.A-D-C-B-E
4 C-A-D-B-E
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In which sequence, according to Piaget, the following cognitive milestones are achieved?
A. Object permanence

B. Reversibility

C. Abstraction

D. Centration

Choose the correct answer options from the given below:

1.A B CD
2C A BD
3.0 A B C
4 A DB C
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e & SR fasmr ¥ fHufciad Jemrad Hid & geR oy <HoHa J Ui fou 9 g 2
A, 95 Wil

. faudan

C. Rt

D. HSIDHI

fFafeRad faecdl H Y B - WIS AL 6 -

1.A B CD
2C A BD
3.0 A B C
4 A DB C
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Arrange the pairings of US and CS in classical conditioning in terms of onset of US in relation
to CS starting from the earliest

A. Backward

B. Simultaneous
C. Delayed

D. Trace

Choose the correct answer from the options given below:

1.A B CD
2D,B CA
3.C D B A
4D, C A B
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A S o el STiud & da8 ¥ FRgdfEd I5iud & Y © &9 § RO
JeIUD R ST IeUD & ZHI DI UR™ & HH U aiRyd Hifeg

A. TEATEHT

B. HE@IIadD

c faafrad

D. g

Fafaiad fgeedl J 9 98l ST 99 &Y -

1.A B CD
2D,B CA
3.C D B A
4D, C A B
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Arrange the stages of personality development in the theory given by Rollo May
A. Innocence

B. Rebellion

C. Ordinary consciousness of self

D. Creative consciousness of self

Choose the correct answer from the options given below:

1.A CBD
2ABCD
3B CAD
4B, C, DA
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3l o gR1 feu e figid o sfdawd Aoy & @Rl & Gel 3ihd o oaiyd Sife ;
A FsByear
B. Fad

C. T4 &1 YE dad

D. WY &I Go-TH® dd-
fgfafiad fasedl § € U8l 3o giHe -

1.A CBD
2ABCD
3B CAD
4B, C, DA
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Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Schertzer and Stone (1974) specified that acceptance requires respect for the
individual as a person of warmth

Reason R: Therapists relate to their patients/clients in a non-judgemental, non-critical and

non-punitive way
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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T el Py fRU U §: Ud &l DY (A) 3R GIR &I db (R) el T e

HTHTHYA (A) : R AR ©H (1974) 5 T8 oy fea arfe Wieww & oy aafed & 9w
Sidd dfdd & 9 H g1 9t

@ (R) : A4 i ora+ Al / Yarliat & 9y IR Ao, IR - AdeEaeEs 3R R GsEe
dih ¥ deR ®3d gl
SUhad HYHI B el H Fgiied fGdedl H I 98 3w 94 ;
A) 3R (R) G Tl & 3R (R), (A) ! Tl RS 5 ﬁ
A) 3R (R) GFT T8l & U3 (R), (A) B! Yol oIReAT el o
)
)

A) T8l & U] (R) 7Ted B

(
(
(
(A) TTAd & W] (R) Jel 5

1.
2.
3.
4,
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Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Obtained t-valve will follow theoretical t-distribution if underlying assumptions
are fulfilled

Reason R: The application of t-test makes an assumption of heterogeneity of variance

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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T el Py fRU U §: Ud &l DY (A) 3R GIR &I db (R) el T e

HwmyA (a) afe sraf-ifed gdyrRma & @1 far Sidr 8, i uid 2 - 9F dEifdd t - faqeu &
SFTER G|

dd (R) : t - UN&01 BT TN TRV ] [AGHRTAT o] GdRoN T9dl &

Iudd &Yl & 3eid ¥ [Rgifed fadbedl § I gaiite Suged I 9 :

1. (A) 3R (R) GHFf T8l & 3IR (R), (A) B! el AR B
z.l:m@ﬁ? ) G T8 & TR (R), (A) P TE IR Ta1 &
3. {A)@Iﬁ%mﬁ R}@Iﬁﬁ%l
4. (A) W8I 981 § U3 (R) GBI B
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Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: According to Classical Test Theory (CTT) total variance is equal to the sum of

true variance and error variance
Reason R: Error variance and true variance are independent of each other as per CTT

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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Il &l dyH fU U §: Ud &l HYDHYH (A) 3R g & db (R) Pl Mg

HTHBYA (A) : FAMYD] TI&U FHGid & STUR Ho TR T YR U9 Jfe TR & aFl &
&R gldl B

dd (R) : A TIRT SR aRAfdd TR0 Udh-gaR 4§ Wdd |
Iuad HYHl & 3Maid | HHifed [decdl § I Faiids Iuged 3w 9 :
A) 3R (R) THI GET § 3R (R), (A) P Fel AR B

1. (A)
2. (A) 3R (R) THT U1 € TR (R), (A) BT TE1 TG FRI €
3. (A) W6l & U (R) el el |
4. (A) 9E! 761 8 I (R) TSI €
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Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A: The NEO-PI-R does not have a response style scale

Reason R: NEO-PI-R developers argued that adjustment of social desirability leads to a

reduction in validity

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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T el Py fRU U §: Ud &l DY (A) 3R GIR &I db (R) el T e
HY@HYA () : 3 U1, 313-3MR(NEO - PI - R) H Srfeban Felt Arg-it el sidi 81

b (R) : 13T - U1, 313, 3R & fa@id &3 gl 4 o 601 & e ais-adl & e 9
EECIR SR

Iuad HYHl & 3Maid | HHifed [decdl § I Faiids Iuged 3w 9 :

1. (A) 3R (R) GHFf T8l & 3IR (R), (A) B! el AR B
z.l:m@ﬁ? ) &I 81 € U3 (R), (A) BT Ul IR 78] &
3. {A)@Iﬁ%mﬁ R}@Iﬁﬁ%l
4. (A) W8I 981 § U3 (R) GBI B
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Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Many companies now enable their employees to share profits or even to

participate in company ownership
Reason R: Worker's productivity boosts rewards from employers

In light of the above statements, choose the most appropriate answer from the options

given below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

www.FirstRanker.com
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Il &l dyH fU U §: Ud &l HYDHYH (A) 3R g & db (R) Pl Mg

HGYT (A) : HTETHT Py DUFA! - U HHANG! DI TG H S8 e B HYdl HU- &
wWiftd # Ht YFiiGR 9911 @1 wiay™ foar 3|

P (R) : HHIG! BT IAUGHA 3P [Haiadrei I o Gaard &
Judad Byl & 3eiie H Fgifed f[deedl 7 gaiide 3uged 3w ol gy
1. (A) R (R) GHT §E1 € 3R (R), (A) P W61 ARBE]

2. (A) Gﬁ?ER]ﬁHﬁ%W{R]r (A) B Tol 0T Tol o

3. (A) W6l & U (R) el el |

4. (A) HE1 981 8 U3 (R) 9Bl B
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Read the given passage and answer the five questions which follow

A researcher wanted to predict academic achievement using Intelligence Test - A (IT-A),
Intelligence Test-B (IT-B), Type of school (rural/urban), and conscientiousness as predictors.
She used multiple regression analysis. She collected data on 200 students on all variables. The
OLS estimator was used. The F=89, p< .01 for the entire model. In individual predictor
analysis, IT-B was the insignificant predictor. The suitable test indicated homoscedasticity. The

model R?

0.64 and adjusted R* = 0.59. Both intelligence tests are significantly correlated with

the criterion variable and with each other.

Which of the following is df for F for the entire model?

1.4;
2.4,
3.4,
4.3,

195
199
195
199
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Which of the following is correct about residual variance in the passage?

1. It is correlated with predictor variable
2. It is correlated with criterion variable
3. It is systematically distributed

4. It is randomly distributed

What kind of a variable is 'type of school’ in the passage?

1. Moderator variable

2. Mediator variable

3. Dummy variable

4, Quasi-continous variable
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Which of the following is the reason for insignificance of IT-B?

1. Heteroscedasticity

2. Poor predictive power
3. Small sample size

4. Multicolinearity

What is indicated by R? in the passage?

1. 649% variance is explained
2. 80% variance is explained
3. 32% variance is explained
4. 36% variance is explained
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R mhmr s R arrRr e FITwE

U Fyddl 3 9is UNET-a (3113 2 - A), gfe TRam - g (313 < - ) fGeeg & usR @y
e, qYT SHafdasRiiadl & Weigd & ¥4 H IUgNT & Afée Iuafsd o yiasgardt &
dmel| 3514 ag AT fa=emo &1 IuaT e I3 I 9= W 200 enffal & ey o
e U Tl | 3 Ul UF Ml ®l SYART HY 11 71 Trgul UicReud g F=8.9, P< .01 el
ufd e ey o 7-B WS WRds ol 41| SUgad URa T gafaariar &1 Yaod e
giaeud

RZ = 0.64 TYT GHMIIT

RZ = 0.59 G dia TH&TT &1 FHHY 9 7Y U6 gut ¥ Agaqul Geue Bl

TV UGEU® 5 F & (oY FEiiiegd 5 ¥ dHardis 2

1. 4,195
2. 4,199
3.3,195
4.3,199
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Correct Marks : 2 Wrong Marks : 0

I Qe o Ry fage & fawg o FgfeRad § o ggl 8 2

1. U8 UIgdd @R U Ygdsfid g
2. U8 M@y T ¥ 1% - Hafdd g
3. Jg ayd ¥ U 4 faaa g
4. U8 U5 ¥4 ¥ faaid g1

IWdd TRET H * faeed & UeR' {hd YR 1 TR g ?

1. fFOH® R
2. G T
3. ST W
4, 9dd - deq W
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3T <1 - B @I Agdedl @ U@ Tel o @ FEad H Y @ - A SR & ?

1. faum fawnfea

2. TdIYSHD U= S W
3. UfGRl &1 Y HHR

4. 9g G¥Edl

Iuad TR H FEfeRad # 9 fod r2 gR1 gfd fhgr g 2

1. 64% UEU ® AR Tl 8
2. 80% TR &1 SOREA] &Xdl g |
3. 329 UERU &1 SORe] &Xdl g |
4. 36% UEIUl &1 TR Bl o
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Question Label : Comprehension

Read the given passage and answer the five questions which follow

A psychologist developed a scale for measuring warmth and competence dimensions. As a
part of scale development, she factor analysed 25-items to retain 20-items. She chose
Exploratory Factor Analysis (EFA). The Bartlett's test=237.8, p< .001. The overall, Kaiser-Meyer-
Olkin test (KMO) is 0.89. The Principal Components Analysis (PCA) was used to extract
components. The first eight eigenvalues were 9.9, 6.5, 1.6, 1.00, 0.85, 0.83, 0.82 and 0.79. She
retained factors on the basis of scree plot and rotated them using varimax criteria. Three items
showed cross-loadings, eighteen items loaded on only one of the factors, and remaining items
did not load on any factors.

Which of the following is correct in case of three items having cross-loading?

1. They have excellent validity

2. They are conceptually sound items

3. The scale has poor reliability

4. They should not be retained in the final scale
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Correct Marks : 2 Wrong Marks : 0

In the above example, what percentage of the variance would be explained by the first
unrotated factor?

1.9.9

2.39.6
3. 65.6
4.72.0

The Bartlett's test results in the above study suggested that

1. Population correlation matrix is not an identity matrix
2. Population correlation matrix is an identity matrix

3. Sample correlation matrix is not an identity matrix

4. Sample correlation matrix is an identity matrix
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Using the Kaiser-Guttman criterion, how many factors would be retained in the above study?

1.4
2.8
3.2
4.-3

Which of the following is correct for the Kaiser-Meyer-Olkin test?
A. It is a test of sampling adequacy

B. Chi-square test is used to test the significance

C. Values smaller than 0.5 are desirable

D. Smaller partial correlation leads to high KMO

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A and D only

4. B, Cand D only
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71087041278. 2
71087041279. 3
71087041280. 4

Question Id : 71087010339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Rt miRmr s iRemwusi FITw e :

U HAIGTHI - FIgle SR &l A1 [Goliyd S J19-T f[ao™ & Y & 0 5 354 20 Hal
@I I T gq 25 Hal 1 DR [GIyUl {6l I5iH 3aul DR G2yl (3 UH T) A1l dcae
ORI = 237.8 p< .001 GHUl, HET-HIR-SH{fcth-1 URET (& TH 3fl) 0.89 &1 Ueh UK &+ &
foy 314 9@ geo g fazawu (i & vy &1 IuahT fan uyd 318 3R dogs HA: 9.9, 6.5,
1.6, 1.00, 0.85, 0.83, 0.82 3R 0.79 I §U / I5i- &bl WIE & YR UR Gsl o @l qyl dfdaq
HFES W dhlda [l

diF #al = Uidde QIS Gl qUT 3f8RE Hal $i Had b4l TP &l PR R ST g3, d §U
Tof @ fdt ot sRe W difsT T8 &5 |

ufdgd qifed arell diF Ael & 6y H FHufaRad § 3 oH 9 oY 91 6 2

1. 31| IHP dedl ol

2. d YeIfi® ¥4 4 3PP HE ¢

3. 911 &t fayg-igdr srddiveHa g

T IR [ 7] I 2 R U P2 I A R | s P
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Options :

71087041261. 1
71087041262. 2
71087041263. 3
71087041264. 4

Question Number : 147 Question Id : 71087010341 Question Type : MCQ Option Shuffling : No Display Q
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SR 9 H UYH R0 SRS fdhd- Uid2id WG90 &1 SORe] BT

1.9.9

2. 39.6
3. 65.6
4, 72.0

ST 17T T arécie Ta $ URUTHE ¥dbd $ed § B

1. GOl Geday Afdey grewar Afded Jal el
2. gy Gedey Afdey grewdr afdad g1
3. Ufdcel Geddy Afdey rewdl Afde el
4. Uidel Geddy At ey gewdl At
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71087041271. 3
71087041272. 4

Question Number : 149 Question Id : 71087010343 Question Type : MCQ Option Shuffling : No Display Q
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Dol - TTEH AHGUS & YIRT & 3Uddd A H fdhd+ DR W S|

1.4
2.8
3.2
4.3
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BER- IR -3Hlfeeh- UR1&0T & fog Fafiiead # A H 98l 6 2

A. T Uid=a- gaftadl &1 U 8

B. 3! A&uiiadt / grdedr & e eq @15 - 9 (chi- square) &1 3YTRT fasdr 1 &1
C. 0.5 U H A T4 g

D. @Y 3Hif¥® Ygddy U 3= & UH 3l gldl el

Frafefad fived § @ 9 SW R

1. Had A

2. Had A 3R B
3. ®ad A AR D
4. HadA B, C AR D
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